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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 7 × 2 = 14
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&

1)	 (i)	 Write two characteristics of business environment.

		  ì¶mdgm{¶H$ dmVmdaU H$s Xmo {deofVmE± {b{IE&
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	 (ii)	 What is Fiscal Policy?

		  amOH$mofr¶ Zr{V ³¶m h¡?

	 (iii)	 What is Repo rate?

		  aonmo Xa ³¶m h¡?

	 (iv)	 What do you mean by Industrial development?

		  Am¡Úmo{JH$ {dH$mg go AmnH$m ³¶m Ame¶ h¡?

	 (v)	 What is Poverty?

		  Jar~r ³¶m h¡?

	 (vi)	 What is LPG?

		  Eb. nr. Or. ³¶m h¡?

	 (vii)	Write two reasons of inflation.

		  ‘wÐm ñ’$s{V Ho$ Xmo H$maU {b{IE&

	 Section - B	 4 × 7 = 28
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 7 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 7 A§H$m| H$m h¡&

2)	 Critically examine the role played by World Trade Organisation.

	 {díd ì¶mnma g§JR>Z Ho$ ¶moJXmZ H$s AmbmoMZmË‘H$ g‘rjm H$s{OE&

3)	 Describe the impact of social environment on business.

	 gm‘m{OH$ dmVmdaU H$m ì¶dgm¶ na à^md H$s {ddoMZm H$s{OE&
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4)	 What do you mean by Economic Planning? Explain its 

importance.

	 Am{W©H$ {Z¶moOZ go AmnH$m ³¶m Ame¶ h¡? BgH$s Cn¶mo{JVm / ‘hËd 
H$m dU©Z H$s{OE&

5)	 Explain the reasons of Industrial sickness.

	 Am¡Úmo{JH$ ê$½UVm Ho$ H$maUm| H$s {ddoMZm H$s{OE&

6)	 Explain the recent developments to strengthen the economy.

	 AW©ì¶dñWm H$mo ‘O~yV ~ZmZo Ho$ {bE hþE ZdrZ {dH$mgm| H$m dU©Z H$s{OE&

7)	 What is inflation? Explain the reasons of problem of increase 

in prices.

	 ‘wÐm ñ’$s{V ³¶m h¡? H$s‘Vm| ‘| ~‹T>moÎmar H$s g‘ñ¶m Ho$ H$maUm| Ho$ ~mao ‘| 
~VmBE&

8)	 Explain the importance of PPP model for economy.

	 nr.nr.nr. ‘m°S>b H$m AW©ì¶dñWm ‘| ‘hËËd H$mo g‘PmBE&

9)	 Distinguish between balance of payment and balance of trade.

	 ^wJVmZ gÝVwbZ Ed§ ì¶mnma gÝVwbZ Ho$ ‘Ü¶ AÝVa ñnîQ> H$s{OE&

	 Section - C	 2 × 14 = 28
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
14 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 14 A§H$m| H$m h¡& 
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10)	 Critically examine the present industrial policy of India.

	 ^maV H$s dV©‘mZ Am¡Úmo{JH$ Zr{V H$s AmbmoMZmË‘H$ g‘rjm H$s{OE&

11)	 Explain the factors affecting international economic 

environment.

	 AÝVam©îQ´>r¶ Am{W©H$ n¶m©daU H$mo à^m{dV H$aZodmbo KQ>H$m| H$m dU©Z 
H$s{OE&

12)	 Explain the role of Govt. in export promotion.

	 {Z¶m©V gdÕ©Z ‘| gaH$ma H$s ^y{‘H$m H$s {ddoMZm H$s{OE&

13)	 Explain the advantages and disadvantages of foreign direct 

investment.

	 àË¶j {dXoer {Zdoe Ho$ bm^m| Ed hm{Z¶m| H$m dU©Z H$s{OE&


